INOS IFER

R 1 TESTING TECHOLOGY

AP ERNEIRELS (2024 )

B mg/L
oo DO NH:-N TP COD
REEA | Al RIS ifi BRI
SR | X5 | R | %9 | 2R | %3 | #R | %5
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
Hh /K T ZebpE =5 < 1.0 < 0.05 < 20
K TV SebriE = 3 < 15 < 0.1 < 30
KK V KhRiHE = 2 < 2.0 < 02 < 40
10:26 | Jota. Rk, IH ND 6.67 Il 2% 0.106 1K 0.05 I 2% 11 I 2%
Ak 10:47 | ot k. B ND 6.72 2k 0.118 12K 0.05 11 2% 10 I 2%
HH2H A 10:18 | Jota. JoRk. i ND 6.56 Il 2% 0.097 1K 0.05 I 2% 11 I 2%
L5eA
10:38 | ot k. & ND 6.60 Ik 0.112 1% 0.04 I 2% 11 I 2%
10:22 | ot k. & ND 6.69 2k 0.100 12K 0.04 11 2% 10 I 2%
Aok 10:45 | Jfa. k. & ND 6.71 I 3% 0.118 ES 0.04 I 3% 9 ES
Pl s 10:11 | Bt k. 7 ND 6.52 2k 0.097 12K 0.04 11 2% 10 I 2%
A
10:32 | Tt k. & ND 6.59 I K 0.112 1K 0.04 11 2% 9 IES
09:02 | Tt k. ND 6.71 IS 0.106 12k 0.05 I 2% 10 I 2%
$HER | BkH 09:20 | b, k. ND 6.68 2 0.103 12K 0.05 11 2% 10 I 2%




INOS IFER

R 1 TESTING TECHOLOGY

‘ ‘ _ ‘ ‘ E DO NH3-N TP COD
RERR | R BERS | o | R [ kR | B | kR [ &l | kR | & | KR
ZR | £ | G X7 | ER | XA | & %35l

K T FebriE =75 < 0.15 < 0.01 < 15

MK 11 Sebri =6 < 05 < 0.025 < 15

H /K T Zebp =5 < 1.0 < 0.05 < 20

K IV bR = 3 < 15 < 0.1 < 30

KK V KFRiHE =2 < 2.0 < 0.2 < 40
iAsH | mms 08:54 | Lt Tk, & ND 6.55 IS 0.094 IES 0.05 I 2% 11 I 2%
09:11 | Joth. k. & ND 6.61 2k 0.115 12K 0.04 11 2% 10 I 2%
09:53 | Kt Thk. iH ND 6.72 I 3% 0.109 ES 0.04 I 3% 10 IES
Ak 10:27 | Bt k. & ND 6.69 IS 0.092 15 0.03 I 2§ 10 I 2%
Hot e 09:40 | ot k. 7B ND 6.58 2 0.103 12K 0.04 11 2% 10 I 2%
R 10:11 | Jota. Bk, 3 ND 6.62 I 2% 0.112 15 0.04 11 2% 9 1%
09:18 | Jofh. k. & ND 6.72 2 0.103 12K 0.04 11 2% 10 I 2%
Ak 09:55 | Tt Tk, T ND 6.75 I K 0.086 1K 0.04 11 2% 10 I 2%
s A 09:03 | Tt k. ND 6.68 I 2% 0.096 12k 0.04 11 2% 9 12
09:37 | ot k. & ND 6.60 2k 0.109 12K 0.04 I 2% 9 1%
09:23 | Tt Tk, ND 6.52 % 0.101 IES 0.05 I 2% 10 I 2%
$HI9H | Bk 09:57 | ot k. 7B ND 6.53 IS 0.092 15 0.05 I 2§ 9 e




INOS IFER

R 1 TESTING TECHOLOGY

e DO NH;-N TP COD
REEA | Bl RIS {%’Ef\‘/r’i‘) o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
P . 09:10 | s, k. & ND 6.46 I 2% 0.086 12k 0.05 I 2% 9 12
09:44 | Joth. k. B ND 6.36 2k 0.109 12K 0.05 11 2% 10 I 2%
10227 | Jfa. Tk, iE ND 6.72 I 3% 0.089 ES 0.04 I 3% 9 ES
Ak 10:43 | ot k. & ND 6.69 2 0.086 e 0.05 11 2% 8 e
Hia e 10:20 | Bt k. B ND 6.58 2 0.081 12K 0.04 I 2% 8 1%
R 10:36 | Lt Tk, 1§ ND 6.62 I % 0.103 12k 0.04 I 2% 9 12
09:09 | . k. & ND 6.75 2 0.070 12K 0.04 I 2% 9 1%
Ak 09:29 | Tt Tk, T ND 6.72 I K 0.075 1K 0.04 11 2% 9 IES
Hs A 09:00 | Tt k. E ND 6.60 % 0.081 IES 0.05 I 2% 9 12
09:18 | Joth. k. & ND 6.63 2k 0.084 12K 0.04 I 2% 8 1%
09:30 | Hfh. FThk. 7H ND 6.72 I 3% 0.103 ES 0.04 I 3% 10 IES
$H29H | Bk 09:53 | . k. 7 ND 6.74 Ik 0.109 e 0.04 I 2% 11 I 2%




INOS IFER

R 1 TESTING TECHOLOGY

e DO NH;-N TP COD
REEA | Bl RIS {%’Ef\‘/r’i‘) o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
P . 09:20 | Tt k. ND 6.59 I 2% 0.098 12k 0.05 I 2% 11 I 2%
09:41 | ot k. & ND 6.62 2k 0.092 12K 0.04 11 2% 11 I 2%
09:28 | L. Tk, & 2 6.75 I 2% 0.106 12k 0.04 11 2% 9 12
Bk 09:51 | ot k. 7 1 6.73 IS 0.101 12K 0.04 11 2% 9 e
S e 09:16 | ot k. & 3 6.53 2 0.115 12K 0.04 I 2% 9 1%
R 09:39 | Tt Tk, T 2 6.54 I % 0.120 12k 0.04 I 2% 8 12
09:42 | ot k. B 1 6.73 2 0.086 12K 0.03 I 2% 9 1%
Ak 10:03 | ot Tk, 1§ 1 6.79 I K 0.089 1K 0.04 11 2% 10 I 2%
SHeH A 09:30 | Tt k. 2 6.81 % 0.098 12k 0.04 11 2% 10 I 2%
09:53 | ot k. 7B 1 6.85 2k 0.095 12K 0.03 11 2% 10 I 2%
14:21 | Tt ToRR. & 1 6.75 Il 2% 0.092 15 0.03 I 2% 9 1%
SHSH | BokH 14:45 | ot k. 7B 1 6.73 2 0.098 e 0.03 11 2% 10 I




INOS IFER

R 1 TESTING TECHOLOGY

e DO NH;-N TP COD
RERR | R RS | UL EwW | km | BW | kR | B | KE | B | KB
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
HERIK V hRifE =2 < 2.0 < 0.2 < 40
sHsH | wme 14:10 | Tt k. 2 6.59 IS 0.112 IES 0.03 I 2% 9 12
A
14:33 | ot Tk, 8 2 6.58 2k 0.117 12K 0.02 2 10 I 2%
09:30 | s, k. 2 6.76 I 2% 0.089 12k 0.04 11 2% 9 12
Bk 09:48 | b, k. & 2 6.74 Ik 0.098 e 0.03 11 2% 10 I
S s 09:20 | b, k. B 3 6.78 2 0.080 12K 0.03 11 2% 10 I 2%
L5cA
09:39 | Tt Tk, T 2 6.80 I % 0.084 1% 0.03 I 2% 9 12
14:38 | ot k. & 2 6.75 2 0.092 12K 0.04 11 2% 10 I 2%
Ak 14:59 | TGt Tk, 1§ 1 6.77 I 2% 0.095 12K 0.03 I 2% 9 126
e s 14:30 | Tt k. 3 6.83 I 2% 0.100 12k 0.03 I 2% 9 12
A
14:48 | ot k. & 2 6.81 2k 0.109 12K 0.03 I 2% 9 1%
09:20 | Tt k. & 2 6.74 % 0.100 12k 0.04 11 2% 10 I 2%
SH20H | Bk 09:50 | b, k. 7B 2 6.76 2 0.103 e 0.03 11 2% 9 1%




INOS IFER

R 1 TESTING TECHOLOGY

e DO NH;-N TP COD
REEA | Bl RIS {%’Ef\‘/r’i‘) o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
sHawH | wms 09:10 | Tt k. 3 6.87 I 2% 0.088 12k 0.03 I 2% 9 12
09:35 | ot k. 3 6.86 2k 0.091 12K 0.03 11 2% 10 I 2%
10:37 | ot k. 3 6.76 I 2% 0.100 12k 0.03 I 2% 11 I 2%
Ak 10:57 | ot k. & 2 6.75 2 0.103 e 0.04 I 2% 12 I 2%
a2t e 10:30 | Bt k. B 4 6.88 2 0.091 12K 0.04 11 2% 12 I 2%
R 10:46 | Tt k. I 3 6.87 I 2% 0.097 1K 0.03 I 2% 11 I 2%
09:09 | . k. & 2 6.84 2 0.103 12K 0.04 I 2% 9 1%
Ak 09:25 | Tt Tk, T 2 6.83 I K 0.108 1K 0.04 11 2% 10 I 2%
ST A 09:00 | Tt k. E 3 6.78 I 2% 0.086 12k 0.03 I 2% 9 12
09:17 | ot k. & 2 6.77 2k 0.094 12K 0.03 11 2% 10 I 2%
09:37 | Kfh. Thk. iH 3 6.86 IES 0.103 ES 0.03 I 3% 10 IES
SH29H | Bukn 09:53 | . k. 7 2 6.85 2 0.105 e 0.03 11 2% 10 I




INOS IFER

R 1 TESTING TECHOLOGY

e DO NH;-N TP COD
REEA | Bl RIS {%’Ef\‘/r’i‘) o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
sHoH | mes 09:30 | s, k. 4 6.79 I 2% 0.086 12k 0.03 I 2% 10 I 2%
09:46 | ot k. 7B 3 6.77 2k 0.091 12K 0.03 11 2% 10 I 2%
09:39 | Tt Tk, 3 6.84 IS 0.097 12k 0.03 I 2% 9 12
Ak 10:02 | Jota. k. & 2 6.83 2 0.108 e 0.04 I 2% 9 e
N3 e 09:30 | b, k. 7B 4 6.89 2 0.074 12K 0.03 I 2% 9 1%
R 09:50 | Jota. k. T 3 6.87 I 2% 0.086 12k 0.03 I 2% 10 I 2%
09:40 | ot k. 7B 3 6.76 2 0.108 12K 0.03 11 2% 12 I 2%
Ak 09:57 | Tt Tk, T 3 6.74 I K 0.105 1K 0.04 11 2% 11 I 2%
¢HsH A 09:31 | Tt k. 4 6.85 I 2% 0.125 12k 0.04 11 2% 12 I 2%
09:48 | Jofh. k. B 3 6.83 2k 0.119 12K 0.04 11 2% 12 I 2%
09:09 | Tt Tk, & 2 6.78 I 2% 0.103 12k 0.03 I 2% 11 I 2%
SHTH | BKH 09:25 | ot k. 7 2 6.74 Ik 0.100 e 0.04 I 2% 11 I 2%




INOS IFER

R 1 TESTING TECHOLOGY

e DO NH;-N TP COD
REEA | Bl RIS {%’Ef\‘/r’i‘) o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
chn70 | mes 09:00 | Tt k. E 3 6.82 IS 0.108 12k 0.04 11 2% 10 I 2%
09:17 | ot Tk, & 2 6.76 2k 0.114 12K 0.03 11 2% 11 I 2%
09:38 | T, k. & 3 6.77 I 2% 0.105 12k 0.04 11 2% 11 I 2%
Bk 09:55 | k. k. B 2 6.73 2 0.108 e 0.03 11 2% 10 I
CHIH e 09:30 | ot k. 7 4 6.84 2 0.119 12K 0.03 11 2% 11 I 2%
R 09:47 | Tt Tk, T 3 6.81 I % 0.117 12k 0.04 I 2% 10 I 2%
09:38 | ot k. B 2 6.88 2 0.103 12K 0.03 11 2% 10 I 2%
Ak 09:52 | JTta. Tk, T 1 6.84 I K 0.108 1K 0.03 11 2% 11 I 2%
CHBH A 09:31 | Tt k. 3 6.76 I 2% 0.119 12k 0.03 I 2% 10 I 2%
09:45 | ot k. 7B 2 6.75 2k 0.117 12K 0.03 11 2% 10 I 2%
10:09 | Tt k. & 3 6.88 I 2% 0.103 12k 0.03 I 2% 11 I 2%
SHISH | BukH 10:26 | ot k. & 3 6.86 2 0.108 e 0.03 11 2% 10 I




INOS IFER

R 1 TESTING TECHOLOGY

e DO NH;-N TP COD
REEA | Bl RIS {%’Ef\‘/r’i‘) o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
HERIK V hRifE =2 < 2.0 < 0.2 < 40
cH1sH | mes 10:01 | ot k. & 4 6.77 I 2% 0.119 12k 0.04 11 2% 10 I 2%
10:17 | Bt k. 7 3 6.75 2k 0.117 12K 0.04 11 2% 11 I 2%
09:37 | Tt Lk, 3 6.84 IS 0.119 12k 0.04 11 2% 11 I 2%
Bk 09:53 | ot k. 2 6.83 2 0.117 e 0.03 11 2% 10 I
ST e 09:31 | ot k. & 4 6.78 2 0.111 12K 0.03 11 2% 10 I 2%
R 09:45 | Tt Tk, T 3 6.77 I 2% 0.103 12k 0.04 I 2% 11 I 2%
10:37 | ot k. & 2 6.76 2 0.111 12K 0.04 I 2% 8 1%
Ak 10:51 | Bt k. 1§ 2 6.75 I 2% 0.105 12K 0.04 I 2% 9 126
cHH A 10:31 | Tt k. 3 6.69 I 2% 0.120 12k 0.04 11 2% 8 12
10:45 | ot k. B 2 6.72 2k 0.117 12K 0.04 I 2% 9 1%
09:36 | Lta. k. & 3 6.78 % 0.102 12K 0.04 11 2% 9 12
SH2LH | Bk 09:50 | b, k. B 2 6.75 2 0.097 e 0.03 11 2% 9 1%




INOS IFER

R 1 TESTING TECHOLOGY

e DO NH;-N TP COD
REEA | Bl RIS {%’Ef\‘/r’i‘) o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
R T 09:29 | Tt k. & 4 6.60 IS 0.111 12K 0.04 11 2% 8 12
09:42 | ot k. B 4 6.63 2k 0.108 12K 0.04 I 2% 8 1%
09:07 | K. FThk. iH 2 6.76 IES 0.108 ES 0.03 I 3% 9 ES
Bk 09:20 | ot k. B 2 6.75 2 0.105 e 0.03 11 2% 10 I
6Nl e 09:00 | b, k. 7B 3 6.69 2 0.117 12K 0.04 11 2% 10 I 2%
R 09:13 | Tt Tk, 7 3 6.72 I % 0.114 12K 0.04 I 2% 10 I 2%
09:38 | ot k. B 3 6.76 2 0.102 12K 0.03 11 2% 10 I 2%
Ak 09:52 | JTta. Tk, T 2 6.75 I K 0.105 1K 0.04 11 2% 10 I 2%
6 Hi26H A 09:30 | Tt k. 4 6.69 I 2% 0.117 12k 0.04 11 2% 10 I 2%
09:45 | ot k. 7B 4 6.72 2k 0.120 12K 0.04 I 2% 9 1%
13:39 | Tt k. 3 6.72 % 0.108 12k 0.03 I 2% 10 I 2%
SHAH | RUkH 13:56 | ot Tk, & 2 6.70 2 0.105 e 0.03 11 2% 9 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
cHsH | mEs 13:32 | Tt k. 4 6.69 I 2% 0.120 12k 0.04 11 2% 9 12
13:47 | ot k. & 3 6.67 2k 0.114 12K 0.03 11 2% 10 I 2%
10:09 | Tt k. & 4 6.70 I 2% 0.099 12k 0.03 I 2% 6 12
Ak 10:26 | ot k. & 3 6.67 IS 0.094 12K 0.02 IS 7 e
T s 10:00 | ot k. & 5 6.69 2 0.114 12K 0.04 I 2% 6 1%
L5cA
10:17 | Tt KWk, & 4 6.64 I 3% 0.108 B8 0.03 NS 7 ES
09:29 | ot k. 7 4 6.72 2 0.099 12K 0.03 I 2% 8 1%
Ak 09:44 | ot Tk, T 3 6.70 I K 0.102 1K 0.03 11 2% 8 IES
That A 09:20 | Tt k. 5 6.69 % 0.111 12K 0.04 11 2% 8 12
09:37 | ot k. & 4 6.67 2k 0.105 12K 0.03 I 2% 9 1%
13:41 | Tt ToRR. FE 4 6.77 Il 2% 0.097 1K 0.03 I 2% 8 1%
THER | Bk 14:05 | Jota. Jovk. BE 3 6.73 Ik 0.102 1% 0.04 I 2% 7 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
Chen | mes 13:30 | Jofa. oWk, % 5 6.62 IS 0.111 12K 0.04 11 2% 7 12
13:52 | Jota. Jobk. BE 4 6.67 2k 0.114 12K 0.03 I 2% 8 1%
10229 | JEfa. KWk, iE 3 6.76 IES 0.105 ES 0.04 I 3% 9 ES
Ak 10:50 | ot k. B 2 6.73 IS 0.111 15 0.03 I 2§ 8 e
e s 10:20 | ot k. B 5 6.65 2 0.099 12K 0.03 I 2% 8 1%
L5cA
10:37 | Gt Tk, 1§ 4 6.67 I % 0.102 1% 0.03 I 2% 8 12
09:46 | ot k. 7 3 6.71 2 0.108 12K 0.03 11 2% 10 I 2%
Ak 10:07 | ot Tk, 1§ 2 6.73 I K 0.111 1K 0.04 11 2% 9 IES
THOH A 09:35 | Tt Tk, T 4 6.67 I 2% 0.120 12k 0.03 I 2% 10 I 2%
09:55 | ot k. 7 3 6.63 2k 0.114 12K 0.03 11 2% 10 I 2%
09:30 | Gt Tk, fi%E 4 6.70 I 2% 0.097 12k 0.03 I 2% 8 12
TAIZE | Bk 09:50 | TGt Rk, fE 3 6.73 Ik 0.102 12K 0.03 11 2% 9 e




INOS IFER

R 1 TESTING TECHOLOGY

337 43 R v - N ER SR I S S S 3
RERH | R HaRAS R AR R RET:
ZR el ¢ el %R el %R el
MoK 1 KhnifE =75 < 0.15 < 0.01 < 15
MK 1 2RbriE =6 < 0.5 < 0.025 < 15
2K T 2K krifE =5 < 1.0 < 0.05 < 20
K TV bR >3 <15 < 0.1 < 30
MK V RbRiE =2 < 2.0 < 02 < 40
09:00 | Jofh. Tohk. % 5 6.65 I 2% 0.114 I 0.03 1 2% 9 1%
7HI12H | MEE
09:25 | Bfh. TEhk. % 4 6.63 I 2% 0.117 1% 0.03 IS 9 1%
- 09:29 | Bfh. Bk, TUE 6 6.71 S 0.108 1% 0.03 1 2% 9 1%
IKHE
sk 09:47 | oo, TR, % 5 6.76 I 2% 0.111 2% 0.03 I 2% 9 1%
7 H 15
R 09:20 | Bfh. TEBE. % 7 6.68 I 2% 0.117 1% 0.03 IS 8 1%
m)?\lil
09:38 | ofh. Johk. % 6 6.65 I 2% 0.120 1% 0.04 I 2 9 1%
‘ 09:50 | JBfh. Bk, % 5 6.70 I 2% 0.105 1% 0.02 I 2% 6 1%
K E
i 10:20 | Tt k. W% 4 6.68 I 2% 0.111 I2% 0.04 I 2 7 1%
7H17H
09:10 | JBfh. Bk, % 6 6.69 I 2% 0.108 1% 0.03 1 2% 6 1%
W&
09:35 | Bfh. TEhE. % 5 6.64 I 2% 0.117 1% 0.03 IS 7 1%
09:11 | Jofh. Johk. % 7 6.72 S 0.117 1% 0.04 I 2 7 1%
7HI19H | Bukd
09:33 | Bfh. ThE. % 6 6.69 I 2% 0.120 2% 0.04 I 2 8 1%




INOS IFER

R 1 TESTING TECHOLOGY

e DO NH;-N TP COD
RERR | R RS | UL EwW | km | BW | kR | B | KE | B | KB
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
CHH | ws 09:02 | Tt k. fiE 8 6.68 I 2% 0.105 12k 0.03 I 2% 7 12
09:23 | ot Tk, E 7 6.65 2k 0.111 12K 0.03 I 2% 8 1%
09:45 | Tt Tk, 7 6.74 IS 0.111 IES 0.03 I 2% 9 12
Ak 10:09 | ot k. & 6 6.76 IS 0.114 15 0.03 I 2§ 10 I 2%
7Ha i s 09:34 | Joth. k. B 8 6.87 2 0.108 12K 0.03 11 2% 10 I 2%
09:57 | Tt Tk, T 7 6.86 I 2% 0.117 12k 0.03 I 2% 9 12
13:42 | ot Tk, & 6 6.76 2 0.113 12K 0.03 I 2% 8 1%
Ak 14:08 | T, Tk, 1§ 5 6.75 I K 0.110 1K 0.03 11 2% 8 IES
7H A 13:31 | Gt k. 7 6.69 I 2% 0.119 12k 0.04 11 2% 8 12
13:55 | ot k. 6 6.72 2k 0.122 12K 0.03 I 2% 9 1%
09:28 | ot TRk, IH 7 6.78 Il 2% 0.122 15 0.03 I 2% 8 1%
7H26H | Bk 09:45 | ot k. 6 6.74 Ik 0.119 e 0.04 I 2% 8 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l

K T FebriE =75 < 0.15 < 0.01 < 15

MK 11 Sebri =6 < 05 < 0.025 < 15

H /K T Zebp =5 < 1.0 < 0.05 < 20

K IV bR = 3 < 15 < 0.1 < 30

KK V KFRiHE =2 < 2.0 < 0.2 < 40
T 09:22 | Tt Tk, 9 6.71 IS 0.113 12k 0.03 I 2% 8 12
09:38 | b, k. 7B 8 6.65 2k 0.116 12K 0.03 I 2% 8 1%
09:35 | ot k. i 8 6.77 I 2% 0.113 12k 0.04 11 2% 8 12
Bk 09:52 | TGt Tl IE 7 6.74 Ik 0.116 e 0.04 I 2% 8 e
TH s 09:27 | ot k. E 9 6.65 2 0.119 12K 0.04 I 2% 7 1%
09:44 | ot TR, f%E 8 6.62 I % 0.122 12K 0.04 I 2% 8 12
09:16 | ot k. & 6 6.72 2 0.093 12K 0.04 I 2% 8 1%
Ak 09:37 | Tt Tk, T 5 6.74 I K 0.096 1K 0.04 11 2% 8 IES
THsH A 09:08 | T, Tk, & 7 6.68 I 2% 0.105 12k 0.03 I 2% 8 12
09:26 | . k. & 6 6.64 2k 0.102 12K 0.04 I 2% 8 1%
10:34 | ot k. 8 6.75 I 2% 0.087 12k 0.03 I 2% 7 12
SH2H Rk 11:12 | Bt k. 7 9 6.79 2 0.093 e 0.04 I 2% 7 e




INOS IFER

R 1 TESTING TECHOLOGY

‘ ‘ _ ‘ ‘ E DO NH3-N TP COD
RERR | R BERS | o | R [ kR | B | kR [ &l | kR | & | KR
ZR | £ | G £7 | FR | £ | GR | %K

K T FebriE =75 < 0.15 < 0.01 < 15

MK 11 Sebri =6 < 05 < 0.025 < 15

H /K T Zebp =5 < 1.0 < 0.05 < 20

K IV bR = 3 < 15 < 0.1 < 30

KK V KFRiHE =2 < 2.0 < 0.2 < 40
T 10:220 | JEfa. k. iE 9 6.81 I 3% 0.096 ES 0.02 I 3% 7 ES
10:59 | ot Tk, B 8 6.85 2k 0.102 12K 0.02 2 7 1%
14:40 | o, ToRR. FE 7 6.75 Il 2% 0.087 1K 0.03 I 2% 9 1%
Ak 15:10 | Jofa. ok, 8 6.77 2 0.090 e 0.03 11 2% 8 e
HsH s 14:30 | Joth. Tohk. BE 8 6.62 2 0.099 12K 0.04 I 2% 9 1%
14:55 | Tt bk, Hi%E 7 6.67 IES 0.096 B8 0.04 NS 8 ES
09:11 | b, k. & 6 6.5 2 0.105 12K 0.03 I 2% 8 1%
Ak 09:27 | Tt Tk, T 5 6.5 I K 0.090 1K 0.03 11 2% 9 IES
$HTH A 09:02 | JTta. k. & 7 6.6 % 0.102 IES 0.03 I 2% 9 12
09:19 | ot k. & 7 6.6 2k 0.099 12K 0.03 I 2% 8 1%
09:17 | Tt Tk, i 7 5.2 I 3% 0.094 1% 0.03 I 3% 8 ES
SHOH | BKn 09:42 | ot k. 7 8 5.3 11 2% 0.091 1% 0.04 I 2% 9 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G £7 | FR | £ | GR | %K
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
cHon | mes 09:07 | Tt k. 9 52 I 2% 0.092 12K 0.02 IS 8 12
09:30 | . k. 7 5.1 11 2% 0.088 12K 0.03 I 2% 9 1%
09:14 | Tfh. Tk, i 9 53 I 3% 0.102 1% 0.02 I 3% 7 ES
Bk 09:57 | ot k. 9 5.5 11 2% 0.096 e 0.02 Ik 7 e
SHBH s 09:02 | ot k. & 8 53 11 2% 0.108 12K 0.02 2k 7 1%
L5cA
09:40 | Tfh. Tk, & 10 5.4 NS 0.105 B8 0.03 NS 8 ES
08:52 | Jofh. k. & 6 6.5 2 0.096 12K 0.04 I 2% 8 1%
Ak 09:10 | Jota. Tk, 7 5 6.3 I K 0.099 1K 0.04 11 2% 8 IES
S s 08:45 | Tt Tk, i 7 6.6 IES 0.110 ES 0.03 I 3% 8 ES
09:01 | Joth. k. & 6 6.5 2k 0.102 12K 0.03 I 2% 8 1%
BUKE | 08:48 | Tofh. Tolk. iH 5 6.5 % 0.101 IES 0.08 v % 8 12
A BOKE | 09:07 | ot k. & 4 6.4 IS 0.104 15 0.08 Iv % 8 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G £7 | FR | £ | GR | %K
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
T 08:40 | . k. & 6 6.7 I 2% 0.110 12k 0.07 v % 9 IES
08:56 | ot k. & 5 6.6 2k 0.107 12K 0.07 v 8 S
09:22 | Joth. ToRR. E 4 6.7 Il 2% 0.118 1K 0.03 I 2% 8 1%
Bk 09:08 | b, k. & 3 6.6 2 0.113 e 0.03 11 2% 9 e
871201 s 09:02 | ot k. B 5 6.5 2 0.115 12K 0.03 I 2% 8 1%
L5cA
09:16 | Jota. oWk, I 4 6.6 I 2% 0.121 15 0.03 I 2% 9 1%
13:38 | ot k. & 5 6.7 2 0.099 12K 0.03 I 2% 8 1%
Ak 13:53 | TGt Tk, 1§ 4 6.5 I K 0.107 1K 0.03 11 2% 7 IES
$7 221 A 13:30 | Tt k. & 6 6.6 % 0.121 12K 0.04 11 2% 8 12
13:45 | ot Tk, 7 6 6.5 2k 0.124 12K 0.04 I 2% 7 1%
09:12 | Tfh. Tk, i 5 6.6 IES 0.088 ES 0.04 I 3% 9 ES
SH24H | Aok 09:32 | ot k. B 4 6.5 2 0.085 e 0.04 I 2% 9 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
cHuH | wms 09:02 | Tt k. 6 6.7 I 2% 0.089 12k 0.04 11 2% 10 I 2%
09:22 | ot k. 7B 5 6.6 2k 0.093 12K 0.04 I 2% 9 1%
11:39 | Tt k. & 4 6.5 I 2% 0.096 12k 0.03 I 2% 8 12
Ak 11:56 | ot k. & 3 6.5 IS 0.101 15 0.03 I 2§ 8 e
87261 s 11:30 | ot k. 7 5 6.6 2 0.099 12K 0.04 I 2% 7 1%
L5cA
11:47 | JTta. Tk, I 4 6.5 I 2% 0.104 15 0.04 11 2% 8 1%
09:07 | ot k. & 5 5.1 11 2% 0.110 12K 0.03 I 2% 8 1%
Ak 09.29 | Jofa. TRk, T 4 52 11 2% 0.107 1K 0.03 11 2% 8 IES
sHsH A 09:01 | s, k. & 6 52 11 2% 0.113 12k 0.04 11 2% 8 12
09:17 | ot k. 7 6 5.1 11 2% 0.115 12K 0.04 I 2% 9 1%
09:20 | Tt k. & 4 52 11 2% 0.093 12k 0.03 I 2% 8 12
SH3OH | Bk 09:36 | Lt k. & 5 5.0 11 2% 0.096 e 0.04 I 2% 8 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
T 09:12 | Tt k. 6 53 I 2% 0.099 12k 0.05 I 2% 7 12
09:27 | ot k. 7 6 5.1 11 2% 0.101 12K 0.04 I 2% 7 1%
10:58 | ot k. & 3 6.2 IS 0.113 12k 0.04 11 2% 6 12
Ak 11:56 | ot k. & 3 6.3 2 0.115 e 0.04 I 2% 7 e
PHan s 10:51 | ot k. 7 4 6.0 2 0.107 12K 0.04 I 2% 6 1%
L5cA
11:52 | Tt k. & 4 6.1 2% 0.104 1% 0.04 NS 7 ES
16:08 | Joth. k. & 3 6.2 2 0.110 12K 0.04 I 2% 8 1%
Ak 16:59 | Tt Tk, 1§ 3 6.2 I K 0.113 1K 0.04 11 2% 8 IES
PHsH s 15:44 | Tofa. k. & 4 6.4 2% 0.118 1% 0.04 I 3% 8 ES
16:51 | ot k. & 4 6.4 2k 0.121 12K 0.04 I 2% 7 1%
16:33 | ot k. & 2 6.2 % 0.104 12K 0.04 11 2% 7 12
PHOHR | BukH 17:29 | ot k. 7 2 6.2 Ik 0.093 e 0.04 I 2% 8 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
oHer | mee 16:25 | Jofa. k. & 2 6.4 I 3% 0.100 1% 0.04 I 3% 7 ES
17:21 | ot Tk, 7 2 6.4 2k 0.113 12K 0.03 I 2% 8 1%
14:51 | ot Rk, iH 2 6.3 Il 2% 0.107 1K 0.03 I 2% 10 I 2%
Ak 15:52 | ot k. & 2 6.2 Ik 0.118 e 0.03 11 2% 9 e
PN s 15:00 | ot k. & 2 6.5 2 0.121 12K 0.03 I 2% 9 1%
L5cA
16:03 | ot Tk, 1§ 2 6.4 I % 0.113 12k 0.03 I 2% 9 12
15:40 | ot k. & 2 6.3 2 0.120 12K 0.03 I 2% 7 1%
Ak 16:50 | Jota. k. 1§ 2 6.3 I K 0.124 1K 0.05 11 2% 8 IES
A A 15:55 | TGt Tk, 3 6.2 % 0.113 12k 0.05 I 2% 7 12
17:05 | ot k. & 3 6.2 2k 0.118 12K 0.05 I 2% 8 1%
16:42 | Tofa. k. iE 2 6.4 2% 0.121 1% 0.03 I 3% 10 IES
PHISH | BUkH 17:53 | ot k. 7 2 6.4 Ik 0.126 e 0.03 11 2% 9 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
oA 3H | mea 16:48 | Joth. Rk, IH 2 6.3 Il 2% 0.124 15 0.03 I 2% 10 I 2%
17:57 | ot Tk, & 2 6.3 2k 0.118 12K 0.03 I 2% 9 1%
1525 | Jfa. k. iE 2 6.4 I 3% 0.093 ES 0.04 I 3% 7 ES
Ak 16:32 | ot k. & 2 6.5 2 0.099 e 0.04 I 2% 8 e
I s 15:29 | ot Tk, 7 2 6.3 2 0.101 12K 0.04 I 2% 7 1%
L5cA
16:38 | Jofa. k. 1§ 2 6.4 I % 0.104 12K 0.04 I 2% 8 12
17:35 | ot k. 7 2 6.4 2 0.110 12K 0.03 I 2% 7 1%
Ak 18:36 | JLta. k. 1§ 2 6.4 I K 0.116 1K 0.04 11 2% 7 IES
YA A 17:39 | Tt k. & 2 6.2 % 0.113 12k 0.03 I 2% 8 12
18:43 | Joth. k. & 2 6.2 2k 0.119 12K 0.04 I 2% 8 1%
16:221 | Jfa. k. iE 2 6.4 I 3% 0.096 ES 0.04 I 3% 7 ES
PHASH | RUkH 17:26 | ot k. & 2 6.4 IS 0.094 15 0.03 I 2§ 8 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
T 16:25 | Jofa. k. & 2 6.2 2% 0.102 1% 0.04 I 3% 7 ES
17:31 | ot k. 7 2 6.2 2k 0.091 12K 0.04 I 2% 8 1%
14:03 | ot k. 3 6.6 I 2% 0.100 12k 0.04 11 2% 7 12
Ak 15:09 | Gt k. & 3 6.6 IS 0.094 12K 0.04 11 2% 7 e
PH T s 14:06 | ot k. & 3 6.5 2 0.091 12K 0.04 I 2% 6 1%
L5cA
15:13 | Tt k. & 3 6.5 IES 0.088 B8 0.04 NS 6 ES
14:59 | ot k. & 2 6.4 2 0.105 12K 0.04 I 2% 7 1%
Ak 16:01 | Jota. k. 1§ 2 6.4 I K 0.108 1K 0.04 11 2% 7 IES
PH M A 15:05 | Tt k. & 2 6.2 % 0.102 12K 0.04 11 2% 8 12
16:06 | Joth. k. & 2 6.2 2k 0.113 12K 0.04 I 2% 8 1%
14:59 | Tt Tk, 2 6.4 % 0.110 12k 0.04 11 2% 7 12
10A 4R Bk 16:07 | ot k. & 2 6.3 2 0.105 e 0.04 I 2% 8 e




INOS IFER

R 1 TESTING TECHOLOGY

e DO NH;-N TP COD
REEA | Bl RIS {%’Ef\‘/r’i‘) o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
wAan | mes 14:03 | ot k. 2 6.3 I 2% 0.108 12k 0.04 11 2% 8 12
14:51 | ot Tk, 7 2 6.3 2k 0.102 12K 0.04 I 2% 8 1%
09:20 | ot k. B 2 6.2 Ik 0.108 e 0.04 I 2% 8 e
AR 09:27 | . k. 7 2 6.2 Ik 0.116 e 0.04 I 2% 7 e
106 n s 10:35 | ot k. 2 6.4 2k 0.110 12K 0.04 I 2% 8 1%
L5cA
10:42 | Tt KWk, & 2 6.4 2% 0.113 13 0.04 NS 8 ES
14:02 | Tofh. Tk, 3H 2 6.3 IES 0.110 BN 0.04 I 2% 7 128
Ak 15:13 | Tt k. & 2 6.3 I K 0.113 1K 0.03 11 2% 7 IES
10AEH s 14:07 | Tt k. 2 6.4 IS 0.116 12k 0.03 I 2% 7 12
15:16 | ot k. & 2 6.4 2k 0.119 12K 0.04 I 2% 7 1%
14:07 | Tt Tk, 3 6.5 I % 0.110 1K 0.04 11 2% 7 IES
1A I0H ) RokH 15:12 | ot k. 7 3 6.5 I 0.119 e 0.03 11 2% 7 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
0A0H | wEs 14:11 | Jota. Rk, iH 3 6.3 I 2% 0.108 12k 0.03 I 2% 7 12
15:17 | ot k. 7 3 6.3 2k 0.116 12K 0.04 I 2% 7 1%
15:05 | Tt k. 2 6.4 IS 0.103 12k 0.04 11 2% 7 12
Ak 16:10 | ot k. & 2 6.4 IS 0.102 12K 0.04 11 2% 7 e
10316 s 15:08 | ot k. & 2 6.2 2 0.099 12K 0.04 I 2% 7 1%
L5cA
16:14 | JToth. TRk, & 2 6.2 Il 2% 0.105 125 0.04 11 2% 7 1%
15:02 | ot k. & 2 6.4 2 0.108 12K 0.03 I 2% 7 1%
Ak 16:11 | Jota. k. 1§ 2 6.4 I K 0.113 1K 0.03 11 2% 7 IES
10 A 15:07 | Tt k. & 3 6.2 % 0.110 12k 0.03 I 2% 8 12
16:15 | ot k. & 3 6.2 2k 0.110 12K 0.03 I 2% 8 1%
11:35 | Tt k. & 2 6.4 % 0.119 12k 0.03 I 2% 7 12
1A 22 H | RkH 12:47 | ot k. 7 2 6.4 IS 0.122 12K 0.04 11 2% 7 e




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
T 11:39 | Tt k. & 2 6.5 I 2% 0.117 12k 0.03 I 2% 8 12
12:53 | ot k. & 2 6.5 2k 0.114 12K 0.04 I 2% 8 1%
15:41 | Jfa. k. & 2 6.4 2% 0.111 1% 0.04 I 3% 7 ES
Ak 16:49 | ot k. & 2 6.4 Ik 0.108 e 0.04 I 2% 8 1%
103241 s 15:47 | ot k. & 2 6.2 2 0.105 12K 0.04 I 2% 7 1%
L5cA
16:54 | Tota. Tk, 1§ 2 6.2 I % 0.114 12K 0.04 I 2% 7 12
15:01 | ot k. & 2 6.4 2 0.128 12K 0.04 I 2% 7 1%
Ak 16:21 | ot Tk, 1§ 2 6.4 I K 0.137 1K 0.04 11 2% 7 IES
1073281 s 15:11 | JTfa. Tk, & 2 6.2 2% 0.134 1% 0.04 I 3% 8 ES
16:54 | Joth. k. & 2 6.2 2k 0.131 12K 0.04 I 2% 7 1%
14:31 | Jfa. Tk & 2 6.4 2% 0.117 1% 0.03 I 3% 7 ES
10A30H | RokH 15:40 | ot k. & 2 6.4 IS 0.114 15 0.03 I 2§ 7 1%




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
HERIK V hRifE =2 < 2.0 < 0.2 < 40
onw0E | nes 14:36 | Tt k. & 2 6.3 IS 0.114 IES 0.03 I 2% 7 12
15:44 | Joth. k. & 2 6.3 2k 0.111 12K 0.03 I 2% 7 1%
15:01 | ot k. & 2 6.5 IS 0.114 12K 0.04 11 2% 7 12
Ak 16:21 | ot k. & 2 6.5 2 0.117 e 0.04 I 2% 8 1%
HAeH s 15:11 | ot k. 7 2 6.3 2 0.111 12K 0.04 I 2% 8 1%
L5cA
16:54 | Tota. Tk, 1§ 2 6.3 I 2% 0.108 12k 0.04 I 2% 7 12
16:52 | Joth. k. & 2 6.4 2 0.117 12K 0.04 I 2% 6 1%
Ak 17:55 | Jota. Tk, 1§ 2 6.4 I 2% 0.111 12K 0.04 I 2% 6 126
HAEH A 16:54 | Tota. k. E 2 6.3 I 2% 0.108 12k 0.04 11 2% 6 12
17:58 | ot k. & 2 6.3 2k 0.105 12K 0.04 I 2% 7 1%
14:28 | Jota. Rk, IH 2 6.5 Il 2% 0.119 1K 0.04 111 2% 6 1%
A T2 Bk 15:41 | ot k. & 2 6.5 2 0.117 e 0.04 I 2% 6 1%




INOS IFER

R 1 TESTING TECHOLOGY

oo DO NH:-N TP COD
REEA | Bl RIS ifi o[ kR | W | kR | R | kB | & | K&
ZR | £ | G X7 | ER | XA | & %35l
K T FebriE =75 < 0.15 < 0.01 < 15
MK 11 Sebri =6 < 05 < 0.025 < 15
H /K T Zebp =5 < 1.0 < 0.05 < 20
K IV bR = 3 < 15 < 0.1 < 30
KK V KFRiHE =2 < 2.0 < 0.2 < 40
DT 14:34 | JTfa. Tk, & 2 6.4 2% 0.114 1% 0.04 I 3% 7 ES
15:46 | ot k. & 2 6.4 2k 0.108 12K 0.04 I 2% 7 1%
14:51 | JTfa. Tk, & 2 6.1 2% 0.114 1% 0.04 I 3% 6 ES
Ak 15:27 | Tt TRk, 3H 2 6.3 2 0.111 12 0.04 11 2% 6 BN
A s 15:20 | ot k. & 2 6.1 2 0.106 12K 0.04 I 2% 7 1%
L5cA
15:36 | Lt k. 1§ 2 6.5 I 2% 0.109 12k 0.04 I 2% 7 12
13:13 | ot k. 7 2 6.5 2 0.111 12K 0.04 I 2% 6 1%
Ak 14:24 | ot Tk, 1§ 2 6.5 I K 0.109 1K 0.04 11 2% 7 IES
M s 13:17 | FTfa. Tk, iE 2 6.3 IES 0.103 ES 0.04 I 3% 7 ES
14:29 | ot Tk, & 2 6.3 2k 0.114 12K 0.04 I 2% 6 1%
15:45 | ot Wk, IH 2 6.5 Il 2% 0.114 15 0.05 I 2% 9 1%
HA 22 Bk 15:55 | ot k. 2 6.5 IS 0.111 12K 0.04 11 2% 9 e




ING

= LHE

R 1 TESTING TECHOLOGY

e NH;-N COD
337 43 R v - N ER ZR 52 S S S 3
REEA | Bl #RRE | 0 R [ kR | Rl | KR | &AW | KR
ZR el % el ZR ZER el
MoK 1 KhnifE =75 < 0.15 < < 15
MK 1 2RbriE =6 < < < 15
2K T 2K krifE =5 < < < 20
K TV bR =3 < < < 30
MK V RbRiE =2 < < < 40
15:50 | Jofh. JoBE. § 2 6.3 I 2% 0.109 1% 0.04 8 1%
1HA2H | MxaE
16:00 | Jofh. JoBk. § 2 6.3 2% 0.106 1% 0.05 8 1%
15:09 | Jfh. JoBE. § 2 6.5 I 2% 0.109 1% 0.03 9 1%
Bk M
16:10 | Fofh. Tk, § 2 6.5 I 2% 0.103 1% 0.03 9 1%
11 A 26 H
15:13 | JTfh. Bk, § 2 6.3 2% 0.106 1% 0.03 9 1%
W E
16:17 | FTfo. LBk, § 2 6.3 2% 0.109 1% 0.03 8 1%
14:25 | b, JGBk. § 2 6.5 2% 0.114 1% 0.03 7 1%
Bk
15:32 | Jfh. JGBE. § 2 6.5 I 2% 0.111 1% 0.04 8 1%
11 A28 H
14:31 | Tfh. Bk, § 2 6.3 I 2% 0.109 1% 0.03 8 1%
W&
15:39 | Jofh. Bk, § 2 6.2 2% 0.106 1% 0.04 7 1%
- 1y G0 2 AT 6 A A ot £ 53 o
#IE

2. ZHEhEh RS Rt

FRAEFRME 2% (b F KIS JR EARE) GB 3838-2002 H155 1 H 38 /K R85 i B br vk 3L AR 01 H b v FRAR -
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